I{e A

()

Directions: Beginincall #1. Do the work necessary to answer the question. Circle your answer, then
search for it and call that cell #2. Proceed in this manner until you complete the circuit. A calculator is

Circuit Training - The Rational Function Name

not needed to do any of these problems.

[ v\rn_'._ﬁ'cti =9 )
#__1__ Givenf(x) = ﬁ,nnd/(z).

...'L| I

[Answer: =4
. ]—H’ For the function f(x) = :”
" f(x) =2

| X = _q

solve

\
N

| Answer: 0
# | Whatis the range of the rational function
2
)- Ry

(- aﬂ, o)V (0, o0)

TAnswer: -:
# __qa___ What is (are) the x-intercept(s) of the

x=5

function f(x) = —?

(5,0)

e —

l\ﬂ‘i\\.r_‘ H
o _7,7— What is the domain of the funcnon

()(.1')" Jx= ]?

x>5

Vir=o

| Answer: -

3

# g How many vertical asymptotes does the
rational function y = 5~ have?
x4-7

Z

(if there are no vertical asymptotes, look for 0}

Answer: -3 Answer: 1
e 1 # |4 Which x — value is not in the domain of
F_ 3x-5
p(x) T o2x24x
-4 ’ e,
‘ choices: £ —4.@
Answer: y=5x-2 Answer: y=0,x=5
# _li List the equations of the asymptotes for | # _Vlg Listthe equations of the vertical and/or

J (g ) ;
the rational function y = iﬁ:;iﬁ 12 ) horizontal asynigtotes for the rational |
| functiony = . E
: +2 ;
N/ A

Answer: undefined Answer: (—o0,3) U (3,x) o
# _i What is the y-intercept of the functlon #_ 1\ Whatis the equation of the honzontal |
f) = 222 tote to the graph of y = —=? {

x+2 asymptote to the graph o1y = 1_3- |

L, '5!23

y=_0
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'.l;\fl"-"l;'fl Answer -, fli U({D,c

3 " 1 ow ¥ 'rrhr1l as) otes does
H Lp What is the equation of the vertical l?) ” ”11n ymptotes do
. 1re8 y = —— have?
asymptote for the function p(rx) = o g t¥-35
ir-1
xs 2 ‘ |
(if there are no vertical asymptotes, look for 0)
Answer. (=, @) Answer.  there are none
y xs3 i 1527 ~txed .
20 Thefunction y ., s notdefined for & |71. The rational function f(x) = ME aiae
which x =value(s) ? has a “slant” or “oblique” asymptote.

What is its equation?

choices Or i y ’:%x —-2

Aniwer ¥ Answer: (_‘:‘ r,_)’
u 1 ' M rvertical asy e o4, ' . N 3 4 i6~x
~£1_ How many vertical asymptotes doesthe 4 22 solye f(x) = 0 given f(x) = ;

: ! 2x=%5
function y = - have?
X X

2

(:f there are no vertical asymptotes, look for 0)

X = -4

Answer: -: ' Answer: 5
# | rD List the equations of the vertical and/or % l_—}; Determine h(3) for h(x) = "'2"
horizontal asymptotes for the rational S

x+3 |

\;j:O’ _ : undrfrneo!

functiony =

Answer: -3 | Answer: x=5,y=2
# 2] Asthe value of x get very large # 19 Whatis the domain ofy = 23 -2
(ie. aDproaches o) for the function ' x5+1

y= % what value does y

approach? 12

“l= e |
Answer: % - [ Answer: 3
z 7] What is the equation of the horizontal | # _|{)  What is the domain of y = - —7
asymptote for the function p(x) = 3x:: 7 |

% (-, 33\)(3 =)

y=21
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